Mo

@

Nov- 6 /18
(@
x ) —l o 1%@'96
X e L) 12 -
T e
€ L 4
Pt
0
ITx = .732 4@ * mm® A=Y
L-’\Ul-ﬂt
Ib = .3 )&\@‘mm"‘

I.‘ﬁb = @'qqgé K\@sm"\\\‘

Wocmal Sicess

UZZ = MXIS4 ststb - Mbjx +J\'\x Il’-b x_
o L
Heve, A= Iij_ Ix%;
LD o= l.glusu xigp Coam®)
Medy o MoTey - 1. 8353 x@™

Mg)jx. x H‘I‘B = 2,636\x‘@‘t

)S -( 2. 636t xl@‘lx

-Qusu x1g'?% )

= 0% '—'('»%353 x(@p't

1. UL @ ‘T

Gz = @.gqquua (o - Luzewx)

I. ('5 S 118 12 T2z : MPa
- ’
gz W - |.UBbUX = @
X & \
£5458 3a.7u Let: 7@.0\0( = (1.u3ék)D
S\ TN,
s K = 65.185 "

Q.rh 60-26( 7
A a7y, -2®.26)

O = @.qauuc(- 30.26 - 14364 xq.7u)
%('6@-26, BC{-?L&) = | GR/ED MPa
GB =

@ .aauug (3. 7u - 1. WILL x (-60-26Y)
e > 25,6 ML,



\)_21, = MIIS“'Mglx\b G Ooo—‘

JaN
oo - NbIr_ + N\Lj—xcl pl
pas
-y -x
Neuxtal ax:is:
Ve = @

H
= N = X e = @

ond 1&«»04 = Nbiw + My Ty
M)L—Ixa + N‘3‘1“5

4 The Norenal Sircess

O = MeTy v M Tuy (& - xdeore)

paN
(¢ Mx #* O
Oe = _Me (o -vtee)
I\g—I;\s)‘.a\O(

7.3 Derfleciions ©F Sitoight Reams Sobojected

to Qo0 sSommest: Cat bead ha .

% ‘1——92

X z z *02
. S

My

M
B
L

x Rbd@x = d»%
dz — s (Ry *5\00—@36

¥



ot

Nocmal  Sdcarn

€zz = (p“g*‘b\d&p—d? =
Az

y

~ |

? S
Y z

| | £+

—_—

R‘s (J\ +(%\_i_*)3

Sthau decomration

oV L)
Oz
= \ = o'V = - &zv
R oz 0z*
=D - OV = €. = o
oz 5 Eu
S'-Y\CC Gzz = N!1\5 - M‘ﬁ-GC) Q4 - M\,\lx /KpIX;_ X
D
Le'\' X = Q@
Then - - OV* = MeTy s Mo I
oz £
Seecial cose * fxy =0

Pren = Taxly
= \_a‘v = My 4{ -ETY = M
|

oz* EIsx

e




The dotan deG\echTQ(\'-
(/(_ = -V JéaLOL

\Exo.mp\e
UG e

——

x
260w

hr X3

c 10

G wvean e

Fiad the ™Mox desltecton of tae beam
Solution Qo = 31-Q men
Te = 3a.€a x<\g*mn®

I‘b = 20.93 ~\@ cmm“




MOM

O,

% ‘1 WNou: | /18
From _a___.a"\) = _f_'\_ac___
(Mmr.\/ﬁ ‘6‘42 e Ex-
,‘L
Ccms+
Foc U Symmettical beom bend\(\%
—OV  _ _MxT+ MoTIx
Oz* N Mx o o  Fuaction ofF Z
0%V j Mo
dxt  E(Tx-Istae)
Since Ty = @ (Q\’\d P - 28 v
- 0%V - Mo
° .Qs
U] i
|
p 4
P
N
TN
S nce P';\ = Peostiery
V _ _P_:;_\':__ tron  table
Nox T TREI. &
L3 ¢
Umox B igec;sx(le) e
Vioe = (38%10%)(3 nw)(Cosi@) 13
: i . oL = 12.83°
(#8)(72 ~1@2)(3q.69 <@ ) e <o
= 6o'79 ™ S
:é\u = Mg:[x + M! Ix;
N)c'_[:3 . N‘s—lts
\
(B (5 - H PG
o
M, - (ﬁ\Pg'(%\ = 5 Pleston b |
boot = M3e - Caotsdo’) < 3a e, - @.aaer
Mx,-Ins WCst(mJ\ A B30 .73 w"/

CL = 12.@a "
oo Mox AgF\EC*TOf\
Vmox . 4.8

—T o = 6-q5MM

émmc = cosh : Ceox(12.83)




Ch.8 - Sheor Center

for Thin-waun Deom

CXos58s - S@ctrion

2.\ 9\\39\‘0*.00@*10(\ For Sheac 0 FMo-wal cross Sectroa,

Steer  centec B poar o e cross - secaton oF & beomn

-\z\’\VO\)%‘(\ Wwien +ne loads must PossS  for the beam +o be
Subiected o ':mu3 \Demd:og) deCocmation . Yo tocsion

“e Cauvsed \:_s e Acansuvesse \ocody Ao e ncowgh
e Sheac cea-ec.

~[C
- P

Sheor sirese v +he

e want
z 1° Shear Stcess s Qarvallel +o the
t
bou(\do.tu\\
¢ com 2° ehear <iress s vnifocm a\\mou%\ﬁ
P ‘\'\ﬁe o

4\‘\'\C\L\'\ess

The rtesutont of Yhe sShear sirtess throoak Hfhe ol

—Pnicbmess : ‘Cé = Z;é (sheoc (—‘\ow\

2L Sheor Flow @ Thin- wau
@ Sheor SAcess o

beam Crocg - seciion

<N genero\ cTossS-seciian

M

£M£’C/) . fod‘Nz ‘M&-ng?am

IV |
C T T Vs \

.



A
Uz; * &l G‘Z-:,

-SX 6—”—*5"0"3 * 35(@11*46\2;\31-45
‘ a

f

~Zdz -t - @
Z -t - 7 s’jgj, d:; Aedy



MO M-

Nou.a /18
37.6 mm,
Y
Find the locaricn ond W\o.c\smirude o dhe Moy pocnal
Shess n Ahe beam.
i/g x § = 6.2333 Kwo
SOIUJ'"OO : ./‘7" 4, ‘/ Yo, » 8 % 2.46%9 w2
. m z
5.333 k0 S
A
Ux
* ‘l'\:.s éM'ﬁ =@
“
@ M%—5.665»9\=@
My = 1@. 667 exa-:
g wo
Yo
xX Qm
ST
z
M - 1@ 669 KNt
i"er
1@ 66 T v Goservadior, mMox normal occurs
kro-to between Z2:=2, Z=k
: when 272
; P, Cen + Z (@-66F
N - M:dZ’) s % z
) 10.669
T 1©.66F up-n Mg(%\ = (6'1\(""4")

_—_A’Z

x
S.ace Je = I"S = (“a)wct R
= (Yu) % (39.5)"
= 1.5B3 x 1% ot AL2 el
%H\O& = MaTIx « Me Txg

= Ng =>

+ M‘.S Ix_5




Plrswot  veos o)

Q(~5n0L, (eos o)

Normatl SAtess

G-IZ 4 MIIS + N)‘ﬂ/;s - NSKJ, fN/fo x

aN D
( Ovece A=I»'I..3\ = My a - No
Zx T
( wherce :‘5 = or can use
foc citcuar Cross - ) - \ e e Woe
seciton G2 = M (& - x fanex )
s ~ e R
O - Me/ ( 5—x@>
- const.
Qe p ——I: (— rcos & ~ sk - danoe )

- N
T Cos ot . e
Gzz.@ N

z __Ig.;_ (rcosa~ (-csano) - fonoe )

A
= Mx.c .-

2 <
Ty Cos O
.c \
G'Zz(g) = M;-x " ecosot () L\:-u\m\
Simece My = 1@.66%7 2 KN = (@667 2 x 1°
Lt -
e = 1683 x10* mpu M 6ccuss (B 3000 wm ]
s B2 8 e Mox ocCcurs @ 2000 M, LOCOmm
K
7‘000( = -é-:z‘z‘ \) (6-2)1’Z {-2 021(26003 = GZZ (“@O@)
=> 288.© Mpo
z AT Z2=zocoo faoL = foo-2 = 2
Cosox = Z : Z

2 = Gooo deoce = 6039-% - U2 J
—_— pp——— z
G-2)*+ 2" fGooo-2y - 2* |

0p(d = (1©0.6652)2 xp?3

Moy

('w 5)

n (e ne®s / N
C Gn(%) - 4u.nq e S < ,\/(éooo-z)b-r z*

whnen

ACOCT e £ 2 & LeOco




